Patrick Caldwell output

A:\>2dArray < c:\temp\p2goodin.txt

 THIS PROGRAM WILL READ IN AN UNSPECIFIED NUMBER OF

 3-DIGIT INTEGERS AND STORE THEM IN A TWO-DIMENSIONAL

 ARRAY WITH 5 ROWS AND 7 COLUMNS. IT WILL THEN FIND

 THE LARGEST, SMALLEST, AND AVERAGE VALUES

 FOR THE DATA.

 PLEASE ENTER AT LEAST FIVE 3-DIGIT INTEGERS PER LINE

 (IF YOU ENTER A NON-INTEGER THE PROGRAM WILL END

 THE ARRAY BEFORE IT IS SORTED:

  666 616   0   0   0   0   0

  555 323   0   0   0   0   0

  444 345   0   0   0   0   0

  333 456   0   0   0   0   0

  222 987   0   0   0   0   0

 THE ARRAY AFTER IT IS SORTED:

  222 323   0   0   0   0   0

  333 345   0   0   0   0   0

  444 456   0   0   0   0   0

  555 616   0   0   0   0   0

  666 987   0   0   0   0   0

 THE SMALLEST NUMBER IS:   0

 THE LARGEST NUMBER IS: 987

 THE AVERAGE VALUE IN THE INPUT IS: 148

 END OF PROGRAM

A:\>2dArray < c:\temp\p2bad.txt

 THIS PROGRAM WILL READ IN AN UNSPECIFIED NUMBER OF

 3-DIGIT INTEGERS AND STORE THEM IN A TWO-DIMENSIONAL

 ARRAY WITH 5 ROWS AND 7 COLUMNS. IT WILL THEN FIND

 THE LARGEST, SMALLEST, AND AVERAGE VALUES

 FOR THE DATA.

 PLEASE ENTER AT LEAST FIVE 3-DIGIT INTEGERS PER LINE

 (IF YOU ENTER A NON-INTEGER THE PROGRAM WILL END

A:\>2dArray < c:\temp\p2full.txt

 THIS PROGRAM WILL READ IN AN UNSPECIFIED NUMBER OF

 3-DIGIT INTEGERS AND STORE THEM IN A TWO-DIMENSIONAL

 ARRAY WITH 5 ROWS AND 7 COLUMNS. IT WILL THEN FIND

 THE LARGEST, SMALLEST, AND AVERAGE VALUES

 FOR THE DATA.

 PLEASE ENTER AT LEAST FIVE 3-DIGIT INTEGERS PER LINE

 (IF YOU ENTER A NON-INTEGER THE PROGRAM WILL END

 THE ARRAY BEFORE IT IS SORTED:

  666 616 -12 111 212 987   0

  555 323 -35 222 434 212   0

  444 345 -42 333 454 432   0

  333 456 -91 444 567 345   0

  222 987 -23 555 456 798   0

 THE ARRAY AFTER IT IS SORTED:

  222 323 -12 111 212 212   0

  333 345 -35 222 434 345   0

  444 456 -42 333 454 432   0

  555 616 -91 444 456 798   0

  666 987 -23 555 567 987   0

 THE SMALLEST NUMBER IS:   0

 THE LARGEST NUMBER IS: 987

 THE AVERAGE VALUE IN THE INPUT IS: -12

 END OF PROGRAM

A:\>

A:\>

I found:

2, , 20, 17, 10, 12, 14, 15

